8§ 5-1

0, = N H



. AvapH m . AfusH m?
. AtrsH m
A PH(T) kJ-mol-!

AoH L H,(5)-H,)=45H,,
AuH 2 H,()-H,(s)=4.H,,
AsubH defH (g) Hm(S):A;gHm

A,.H,2 H, (Cr2)-H,(Crl)=41H,

trs
-A vapHm -A fusHm

sub” "m

o

sub

Imol

(5-1-1)
(5-1-2)
(5-1-3)
(5-1-4)



A H=nA H=0 5-1-5

2
5-1-1  101.325kPa 630K
291.6kJ-kg! Hg(1) = Hg(g)
1.00mol w O AU AH

M,;,=200.6g'mol"!
A H=nA  H=(1.00x 291x 200.6x 10-)kJ = 58.5k]
W= -p(V,V)= -pV,=-nRT=-1.00% 8.3145% 630kJ = -5.24k]
Q,=A H=58.5k]
A U= Q+W=(58.5-5.24)k) = 53.3k]



Iy p

Imol B p,
H(T))
Vap m

I
I, p,

p m(T2)

P>



A H,

B(l) n=I1mol
15, p,
AH,
B(1) ;Zlmol
Iy, p,
AH,
B(l) n=I1mol
I, p

\ 4

B(g) n=Imol
15, P

AH,

B(g) n=Imol
Iy, p,

A

AH ,

vap m

NH (T)

P> P

AH=~0 AH, B

A H=0

\ 4

B(g) n=Imol
I, p

H (T,)=A H+A Hy+A | H (T)+ A H,+A H,




A H (T,)=A H(T)+A H+A H,

vap —m vap —m

I T,
aH, = 'C,, (AT AH,=[C,, ()dT
7 L
0 B Ho ) =By Ho )+ ] G+, (@7

By, (1) =B, H, (0 * [ °[C,.,()=C,,0|dT  G5lrty

A vapHm(Tl) Cpm(l) Cpm(g)
T, B A H (T,

vap- ~m

vapHm Cp’ m(g) Cp} m( 1 )



5-1-2 100 101.325kPa
A H,(100 )=40.63k]-mol’
C, (1)=76.56J- mol'"K-"  C  (g)=34.56]-mol'"-K-

142.9
A H (1429 )

vap” ~m

4161
By, (1429° O =1, H,1000)+[_[C,,,.(£)~C,,,(0]dT

3732

=A,,H,(1000)+(C,,,(2)~C,,,0|(T, ~T))

A, H,(142.9°C) = 40.63+(34.56 - 76.56x10" x(416.1 -373.2)
=38.83kJ ol



(1)

101.325kPa
373.15K

101.325kPa

373.15K

dp

373.15K
101.325kPa



S = (5—1—7)
T
def
A S=—S, ()-8, (s)=A4"S, (5-1-8)
Dy SntLS, (g) =S, () =n5S, (5-1-9)
def
By S—S,(g) =S, ()= AS, (5-1-10)
A, S, 28, (Cr2)=S, (Cr)=0%7S,  (5-1-11)

rs~m=—

101.325kPa



5-1-3 Imol 110

A S AH,( ) = 33.5kJ-mol
1
101.325kPa 110 T »p
110
101.323kPa A H
T
NS H X _
_nlTH, _ 1x33500 K™
T 383.15

= 87.43JK



(4)

101.325kPa 90

S
0 T
S
S
S
S S
5-14 101.325kPa 50 1molH,O(1) 101.325kPa
50 1molH,O(g) v C, (1) =73.5]-K-'mol!

C, (£)=33.6J-K-mol! 100 H = 40.59kJ-mol!

vap ~m



vap

100 101.325kPa

HO(l) T,=32315K | T.,p | H,0(l) T,=323.15K
Imol  p,=101.325kPa S, | 1mol  p,=101.325kPa
Pl S Pl S
H,O(l) T,=37315K | T,p | H,0(l) T,=373.15K
Imol  p,;=101.325kPa St | 1mol  p;=101.325kPa

S,= S+ S+ S,

nC_ (H,0,] T
i1C (M, )a’T:nC (H,0,1)In—
) T b T,

AS, = |



A S =nA H, /T

_(H,0, T
pn {1 g)dT:nCp,m(HzO, g
1

T Ava Hm T
A S,=nC,_ (H,0,)ln-t+—2 " +»C (H,0,g)ln-=

3
X X
373.15 +1 40.59 %10 +1><33.6><1n323'15)J x-

=(1x%x73.5In
323.15 373.15 373.15

=114.52 J-K'!



5-1-5  1.00mol 101325Pa  -10
S 334.7]-g°!
C(H,0,1) = 4.184J-g" ' K- C (H,0,5) =2.092J-g"-K"!
H,0(1,263K) - H,0(s,263K)

S



H,0 (1) T,=263.15K | T , H,0(s) T,=263.15K

1mol p=101.325kPa S | 1mol p=101.325kPa
pl S Pl S
HO(l) T,=27315K | T,p | H,0(s) T,=273.15K
Imol  p=101.325kPa S, Imol  p=101.325kPa
Y dT T
AS, = |  1C (V=== 0C (1) 1nE
2 _ _
= (1.00><18.O><4.184><1n2—2)J K~ =2.8UK"
T dT T,
AS, = Iﬂ nC, (S)7 =nC,,, (S)ln?1

= (1.00x18.0x2.092 X 1n§—§§)1 K =-141JK"



AMSHI’I’I J X - -
ps, = 2lln _ _1BOXSMATIEK™ _ ) 11
T 273

S,= S+ S+ S,
= (2.81- 22.1-1.41)JK-'=-20.7J-K"!
A S

1
T
AH, = | €, (DAT =[1.00x18.0x4.18 (273~ 263)}] =753]
2

AH, =nl , H, =[1.00%18.0 % (-334.7)]] =-6.03%10°J



3
T,
AH, = j . C, ()T =[1.00x18.0x2.092%(263=273))) =377
AH =AH, +AH, +MH,
= (753 - 6.03x10° =377)J = =5.65%10"J

101.325kPa 0= H
5.65k]
5.65k]
3
ps =8 _3.65X10 s o sy
T 263

AS =AS +AS =(207+215JK " =0.8JK" >0



/4

=0
B(a)=B(5)
B Mg U

B a V&
dG = [, dn, + ,L/gdn]f
—dn,, = a’n]f =dn,

a 4 £ a
dG = —Updny + Uydny = (Uy — Uy )dng



AG=AH-TAS

A G=A H-TA §<0

4 G



5-1-6 ImolH,O(1) 101.325kPa 263.15K

H,0(6)  ,H=-5650] . S=-20.7JK"

G
AquG — AquH _TAquS
= —=5650J — 263.15 x(-20.7)] =-219]
s <0 5-1-13 101.325kPa 265.15K

fus

A G=A H-TA S
=A H-TA H/T=0



§ §5-2



R’

(1)

, NH,HCO; (s)
NH,HCO; (s) = NH;(g) + H,0(g) + CO, (g)
x(NH;) = x(H,0) = x(CO, )
R =2 C=85-R-FR=4-1-2-=1



ay

,NaCl Na*,Cl-,H*,0H-
NaCl
NaCl(s) = Na™+ CI- H,O=H"+ OH-
x(Na*) = x(CI) x(H*) = x(0OH")

x(Na*) + x(H*) = x(CI-) + x(OH")
§S=6 R=2 R =2 C=S8-R-R'=6-2-2=2
NacCl H,O=H*+ OH -
x(H*) = x(0OH") x(Na*) + x(H") = x(Cl-) + x(OH")
S=5 R=1 K =2 C=S-R-RR=5-1-2=2



I p x%,
T p xB,

T p x°
P S-1 +2

Mg = Py

o
)

xP,

p
X 9



Mg = Py
L 2 3 ... P B=1,2,... S S( P-1)

S(P-1) + R+R’

F P S-1 +2_[S(P-1)+R+R’]

=S-R-R'— P+ 2
F=C- P+ 2 (5-2-1)



101.325kP

F’ =C-P+1 5-2-2
1 (1) NH,CI(s)
NH,CI (s) =NH;(g)+HCl(g)
) NH,CI(s) NH;(g) HCl(g)

NH,CI (s) =NH;(g)+HCl(g)

(1) %3C=S—R-R': 3-1-1=1

F=C-P+2=1-2+2=1

C= F=?

2)C=S-R-R=3-1-0=2
F=C-P+2=2-2+2=2



2 (1) CaCO;,(s)
CaCO; (s) = CaO(s) + CO,(g)
(2) CaCO; (s), CaO (s), CO, (g)

CaCO; (s) = CaO(s) + CO,(g)
D@ =s-r-r = 3-1-0=5
F=C-P+2=2-3+2=1
(2)C=S-R-R' =3-1-0=2

F=C-P+2=2-3+2 =1

?



NH,I(s)
NH,I(s) = NH;(g) + HI(g)
2HI(g) = H,(g) + 1,(g)

P=2 §=5 R=2

p(NH,) = p(HI) +2p(H,) p(H,) = p(I,)

C=S8-R-R'" =5-2-2=1
F=C-P+2=1-2+2=1

F

1 p T



4 Na,CO; H,O
Na,CO;-H,0(s) Na,CO;-7H,0(s) Na,CO;-10H,0(s)

Na,CO, H,O(s)
C=S-R-R
=5 R=3 R' =0 Na,CO,
C=§S-R-R =5-3-0=2
F' =C-P+1 F =0 P
0=C-P+1=2-P+1=3-P P=3
Na,CO, H,O(s)
Na,CO,(s)

Na,CO,(s) Na,CO,



§ 5-3

F=3-P

P=3

F=0



3.1

H,0

t/ -15

p/Pag <1 190.5

x 106
s <> g 165.5

184 0N

e « 1

F=1- P+2 F=3-P F_=2
-10 -5 0.01 20 100 374
285.7 421.0 610.5 2337.8 101325 22.04
260.0 401.7 610.5

110 4 K0 R ATN R » 106 ((MPa)






g = -

p=/(T)
OB g8 =

F=1 p=/(T) G /° ¢
F=1

s=1 -
oC
BOC
AOC
AOB
O
t=0.01

p=610.5Pa



0C C
T=647.4K p=22.112MPa p.

TC 2800
(p>p. T>T,

40 30 0 30 60 90 120
t/C



7/ K

p=f(T)

F=1



T’ *
B'@) =£ B@)

¢ B*a.T p) Y (B%B.T p)

B*(a ,7+dT p+dp <= B*@ ,7+dT p+dp

p (@ BXTp)y+duy(a) p B .B*Tp)+dy (B)
dy(a) du™B)
dG = - SdT + Vdp
-8 *(a )T+ V. *a)dp=- S B )T + V_*(B )dp

dp _ S,(B)=S,.(a) _ 1S,
ar v, (B -V, @) L,




NS =" lm
T
dp _ X H,
dT TNV (2-2)
(2-2) (- )
dT TNV’
Pk (2-2)



dp Af,HD
dT TV, (g) -V, )]

[Va (@ Vi (DIE V(g

pVu (g =RT
dp _ D, H,
T Rrr: °
dinp A, H,
(4-5)



0 6008J.mol-!

19.652ml.mol -! 18.018ml.mol -!
0 1
dp AP HEC 6008

v Pa.K ™
dT ~ TAPVD  273.15%(18.018 —19.652)x10°°

= —1.346 x10'Pa.K ™'

1
13.46MPa

~ = -0.0075K.(100kPa)

0.0023K
0.0099K



(14

o Oa

P=611Pa

3-4

H,0

29

=0.01

P=101..325 kPa

o Oa

(b)

3_5 (15 29

=0



In {pj

[
— AvapHm
dln p = dT

RT *
1 /[ ] A Vap HnEl C
n = — + 4-5
p/Lp R (4-5)
In {p} K/T A ooH IR

A H_
2L o ’"(1_1)

1/ T/IK



[]
AVapI{m

—— =88 JK "'.mol "
Tb

P C (T
dT o pm()
B
In p=4-
# T +C

A B C

(4-5)

(4-5)



B(7,p,1)=B(T,p,g)
K°=f/p°® A

din(f/p®) _AH,
dT RT*

5-3-6

fz_A%’Hn?(l_l) o
fi R T, T, -

In



a [ v
B (T, p) =B” (T, p) =B/(T, p)

u' (T, p)=u’ (T, p)
u (T,p)= ' (T, p)

273.16K 610.5Pa

a —ga
L=LE-12 N =115 AJL, =L, -L,

B % a _
N L. +AﬁLm +AyLm =0 5-3-8



5-3-8
A H =45.049k]J-mol-! A H =6.008k]J-mol!

vap ~m usb™ “m

NH, =NH, +A5H, =51.057k] Gnol ™

5-3-8



C=8§=2
F
Xy X
=3
XA

a a —
X, +xB

P =1
Xyt xg=1
T
=2
I' p x, xg?
xA,B —I—xB,B

2



F=C-P+2

C=2 P=2

F=2



a a —
X o —I-XB 1

xAﬂ +xBﬂ =
NZ(T,p,XZ):ﬂf(T»P»Xf)} 5-4-1
UG (T, p.x3) = pf (T, p.xf)
U (T, px§) = (T, )| 542
ﬂg(Tapaxj) :lUBIB(T’p’xf)/
5-4-2 T'p ox" %

5-4-2



3\

du (T, p,x5) =du’ (T, p,x")
dus (T, p,x5) =dus (T, p,x%)

D'

5-4-3



(Ou/0T), ==S,,,(0u/dp); =V

m

—deT+dep+[

DAQ

—Sng+ngo+

/—\\
ZSQ
;/

d§ =-S£dT +V¥dp +(

dx§ ==S5dT +V}dp +(

5-4-4



5-4-5
[a,ugl % EaﬂfJ
ox” . xB\ ox” .
5-4-5 5-4-4
a a P A
-sgar+Vgap =24 | g ==sfar +vfap -5 | act
Xg axj T.p xg axf T,p
xp? /x,7
i 7 a_ B 0 B
Y [(5f - SET + (7§ ~VE)pl | F | qug = X8%a | O | s
o LWp Top 4 a B 3.8 4
xA a)CA T,p xA xB axA T,p



5-4-4

a
(S4 =S)HAT + (V] —Vf)dp{aﬂfl}
T,p

a
Ox’,

5-4-6 5-4-7

XA XA
(o) _mxa [0 ) |,s
B ox” xIx2 | ox? .
| AJTp A'B AJrp |

5-4-8 x,9 x5P
o [ oy’
<x§—x3>[ ”;j &’ =
Ox .

{"}; (Sh —Sg)+ (S5 - St )}dT {’%(VB" -

B
dxj = [a'uA ) dxf 5-4-
T,p 7

ox”
I a 14
)+l -V >}dp

5-4-

5-4-
9

Br a,~B a a ., ~B a L. a a Jii a a B
Xplx, (S, =8,)+x;(Sz =S)HIAT +x,[x, (V, =V, )+tx,(V; =V )ldp



5-4-9

o[ O .
A —xB)[ ”Aj i’ = 5-4-10
T,p

a
Ox ,

a. B.,~B a B, B a ar B ,,0 B B 1,a B
xplx, (S, =S,)+x,(S; =S)HAT +x,[x, (V, =V, )+x,(Vy; =V, )Idp

a, ag f, fp Xy

X 5-4-9 5-4-10



Knovopov

1 (19

2 (14

29

29

5-4-9



(B_Tj — >
0x, ), X[y (SE =81+ y, (S5 = 8))]
o7

OLE
_ (V) =X, )Eaﬁij Ny

LEL o[ (S = S!) +x,(SE —Sh)]

S S
[ g
[0/’12 j S O (aall'IZ } > O
Ox, . v, -
5-4-11 5-4-12

(aT/ axl)p (aT/ ayl)p y2_x2

5-4-11

5-4-12

VoXy



(0T / ox,),

Xy Mo

(0T / &x,), =0

0

VoXy

5-4-12

Vo= Xy

0 Xy Y,

T/ dy,), O

(0T 1 dy,), =0

X1

T-x

M1

T-x



d7=0

S: S:
X, 0 7% 1

5-4-9



1 1 1
ot 02| =t % =t
Ox, . X, Ox, .

(alnx;J _ -4y, i
T



A xS,
A xS,

5-4-9

0
0

5-4-14



5-4-14
AJH 0
5-4-14
A xJS =N JH / 7}



8§ 5—5
F=2-P+2 = 4-p

Pl R
F=2-P+1 Foax=
p - X -
T - x
1) -

P=Ps Xyt Pg Xp
P=ps (1-Xg)+PgXg=P,y" +(Pg - Ps )X



p—x
P<pg
[]
v _Ps _ Ps¥p >
% %

p/Pa




p/Pa




3-2

(A)- (B) (79.7
Xp p/ 10°kPa

0 0 0.3846
0.1161 0.2530 0.4553
0.2271 0.4295 0.5225
0.3383 0.5667 0.5907
0.4532 0.6656 0.66499
0.5451 0.7574 0.7166
0.6344 0.8179 0.7722
0.7327 0.8782 0.8331
0.8243 0.9240 0.8907
0.9189 0.9672 0.9845
0.9565 0.9827 0.9179
1.000 1.000 0.9982

)



0.0

0.8

= <
= =

edM .01/ d

<
¥

i
=

0.0

0.

CH

¢ (B)

CH

Ye

CH,(A)
5-3 C,H.CH,(A) - CH, (B)

5



P=pPs +(Pg - Py )Xp

2)

PgXg/ P

YB




00 02 04 06 08 10~ 99 02 04 06 08 10

t/ T T T Ay S L S —
t=79.7 | p=101325Pa
0.8} | : o IYI B E -
120 | | Yo p=0.62
I(A+B) | £ - :
LM A 1 . g(A+B)
S 0.6L L oo —- - | |
a, Y : 100 ! | ! N
- I(A+B) — :m2 L
(g\| 1 1 | 1 |
20 - b
: i 80 | m Lo l‘*
S~ %k 1 1 1 B
A+B ! ' . X :
0.2k 5 1 60| | ' %.=0.50 .
! : B
0.0 i i A OI 8 1 0 0.0 E i |E E 1 [
09 oz 04 06 08 00 02 04 06 08 10
CH.CH,(A) ¢Hg (B) CH. (B
VB CH.CH,(A) X, sHg (B)

5-5 C¢H;CH,(A) - C,H, (B) 5-6 CH;CH,(A) - C;H, (B)



)

n=n'+ nt

= pn.l — nly 1
ng = Ng T ngt=nxg + ntygs

ng=nxg=Mm'+ ne) xg

g 1 — ,8..8 [
(n +n)xB—n Vg Th Xg

-
1
n

t/
p
B g(A+B)
N
g(A+B)=1(A+B)
* D? E
B Ci | |
| o
I(A+B) ! | |
| o
Xy | | Xz 1 YE
I | ' |3
A Xg
S-7

1
Xg T Xp

g _
VB ~ Xy



N DE

= — We DE =%, CD
N ¢ CD
I\

S - W, DE =W CD
W e CD :
/1

nl ng
n=n!+ng

We (Rg-%7) =W (R5-%7)



Y38

tB
J/B:

,B

4]
N

(4)

VAB
o
X5,
]
4 [ |
VA —i
L
o n
X3,
S B
- =
H6
o ©
P
9
<
[==]
X
AN g
s
3 <
H3
CS
= =
&)

S-8



1)
0.0

Y

0.8 1.0

0.6

0.2

0.0

0.8

0.6

0.2

p=101325Pa

edd .01/ d




2)

YB
0.0 0.2 0.4 0.6 0.8 1.0

t |
p=101325Pa . =0.897

120 |
|
g(A+B) |

£y 100 g(A+B)
B + 1(A+B) |
s0 L g(A+B)=1(A+B) N4 ;

I
78.15
I
I
xB=0.8|97

60 1(A+B)

00 02 04 06 08 1.0
H,0(A) C,H.OH(B)

Xp

5-9 H,0(A) - C,H.OH(B)



5-9

t/ ! _
p=101325Pa

g(A+B)

|
0.0 0.2 0.4 0.6 0.8 1.0

CH,CI(A) C,H,O(B)

Vs
s

5-10 CH,CI(A) - C;H,O(B)



3-4 H,0 (A) -C,H.OH (B)

29

p/10°kPa | 0.127]0.173 1 0.265| 0.539 | 1.013 | 1.434 | 1.935
t/ 33.35139.20| 47.63 | 63.04 | 78.15| 87.12 | 95.35
0.986 | 0.9721 0.930 | 0.909 | 0.897| 0.888 | 0.887

X8~ )B




_ % %
PTP ATPB
r (Hzo) + P (C6H6)
P (CeHy

i L L 1 L 1 =>

333 343 353 363 373
T/K

p- H,O OT
p. CH, 0OT
H,0 (A) OCH, B
p UurT

Ty (A+B) <T",(A)
T, (A+B) <T",(B)



[ HO A CH, B ] p =101.325kPa
£ =69.9

p*(CH,)=73359.3Pa

p*(H,0 =27965Pa

V(CHy) =— L (C6Hf) =(0.724
P (H20)+P (C6H6)

HZO (A) - C6H6 (B) B



0.0 0.2 0.4 0.6 0.8 1.0

=101 325Pa

A

100

30 L e(A+B)=1(A) s

A+B)=1(B)

C T =)

60 | E

I(A)+(B)

40 |

00 02 04 06 08 1.0
H,0(A) CeHe(B)

XB

5-12 H,0(A) - C,H/(B) ;

CED—

I(A) +1(B)*+ g (A+B)






(D ( )
t/ —
P~ K 1(A+B)
160 | ¢
1167
|
1201 | F' =C-P'+1
|
C : )
30 | 1, (A+B):r|‘l[3 (A+B) P
| ! |
a.__a_ _______ _‘I_O_ _______ B_..b
40 L |
wg=0.49
F ! G A
_. [ ] | | [| [ | .
00 02 04 06 08 1.0 m(la) = i
H,0(A) Wi CcHsNH,(B) m(lB ) ao

5-13 H,O (A) -C,H,NH,(B)



(/°C

5—14

t/ C

180k

220

200

160
140
1204
100+




Wp
00 02 04 06 08 1.0
] || :I ||
t/ = |
. g(A+B) |
{s | "@3@
I \N O
100 S(ATB)= 1, (AB), | ﬁ* )
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